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/* B € 0| &3t7| */ —

#include <stdio.h>
#define SIZE 10

int main(void)

{

int i;
int number[SIZE];
double average;
for (i=0; i < SIZE ; i++) {
printf("%2d R =5 USHFAM Q. ", i+1);

scanf("%d", &numberli]);
sum += numberfi];

average = (double) sum / SIZE;

printf("Wn&at2 %d L C}", sum);
printf("Wn@ &2 %.3If Y L|CtWn", average);

return O;
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#include <stdio.h>
#define SIZE 10

int read_10_no(int no[ _

void print_10_no(int no[ ]);
int sum_10_no(int no[ ]);
double avg_10 _no(int no[ ]);

*/
*/
*/
*/

int main(void)

{

int number[SIZE];
int sum;
double average;

if (read_10_no(number)) {
print_10_no(number);

sum =sum_10_no(number);
average = avg_10_no(number);
printf("\nZ= ¢t %d0| 1

“Ha2 %.3If°' L|C}t.",

sum, average);

return O;

}

return -1;
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/* AFEAFE R B 1071 2| =XHE &H0t=0|
int read_10_no(int no[ ])

{

}

inti;

for(i = 0; i < SIZE; i++) {
printf(“%d B ==X} : “, i+1);
if (scanf(“%d”, &noli]) !=1) {
return O;
}
}

return 1;

/*HIE S SEH5t= st #/

void print_10_no(int no[ ]) {
{ double avg;
inti;
avg = (double) sum_10_no(no) / SIZE;
for(i = 0; i < SIZE; i++)
printf(“%d SR ==X} : %d\n“, i+1, no[i]); return avg;
} }

= = T

=0[2(2)

AL = R
int sum_10 no(|nt no[ 1) I
{
inti;
int sum =0;

for(i = 0; i < SIZE; i++) {
sum += noli];

}

return sum;

}

- Y
double avg_10 no(int no[])
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